T1-S TTCN ad hoc#3

21st June 2001, Sophia Antipolis

T1SAH-010007
SUBJECT:

Concurrent conformance requirements

SOURCE:

MCC Task 160
GERAN is developing the GERAN Iu mode for the release 5. In the near future, we will probably face GERAN 2G and GERAN 3G two different modes. The 2G/3G HO will become UTRAN <->GERAN (2G) HO, UTRAN <->GERAN (3G) HO and GERAN (2G)<->GERAN (3G).

When T1S develops a test architectural model for the SS and the TTCN test cases, the model must cover the requirements from Rel 5. For this reason, a question on the concurrent conformance requirements in the 3GPP standards for HO was raised. An answer from the GERAN expert (Vodafone) was received.

The answer is that there is no concurrent conformance requirement in the (3GPP) standards for an MS/UE to be connected simultaneously to two cells of any kind.
The opinion from the GERAN expert can help to sort out the test model and test method for the multi-cell testing.

From:
jose-luis.carrizo@vf.vodafone.co.uk

Sent:
19 June 2001 11:08

To:
Shicheng.Hu@etsi.fr

Cc:
claude.arzelier@vf.vodafone.co.uk

Subject:
RE: Intersystem HO test

Hello, Shicheng

Nice to hear from you.

One could imagine three possible "modes" depending on the combination of access and core networks used:

  - GERAN 2G mode

  - GERAN 3G mode (in R5 and onwards only)

  - UTRAN (3G) mode

In addition to the obvious "intra-mode" cases, in Release 99 we have the GERAN 2G <-> UTRAN handovers. In Release 5, there will be another two handover scenarios created by the definition of the new "mode" (GERAN 3G mode): GERAN 2G <-> GERAN 3G handover and UTRAN <-> GERAN 3G handover. Thus, from Release 5 onwards, the terms 2G and 3G may become less obvious, since they refer to the CN rather than to the AN. I hope this is clear in the LS.

Regarding your question, I believe that the answer is 'no'. The SS will have to be capable of supporting multiple cells of different RATs, in order to test conformance requirements of multi-RAT and multimode scenarios. However, the MS will only use them for measurement and cell reselection purposes, never being connected to two cells at the same time. The only case when the MS is close to have two connections is in GPRS class A, where there is a certain degree of independence between the resources allocated for CS and PS. However, it is most likely that the only class A terminals in the marketplace will be the DTM ones, where the allocation of resources is co-ordinated by the network so that only one radio unit is needed. I would be surprised if this is different in for the case of GERAN/UTRAN terminals and they include two radio units.

To sum up, there is no current requirement in the standards (and I am inclined to believe that there will never be) for an MS/UE to be connected simultaneously to two cells of any kind, apart the typical multi-cell scenarios where the MS will have to find/measure one of the neighbouring cells, but this is done in idle periods.

I hope to have answered your question. If I did not understand it correctly, please let me know.

Kind regards,

José Luis

-----Original Message-----

From:
Shicheng Hu [mailto:Shicheng.Hu@etsi.fr]
Sent:
19 June 2001 09:34

To:
'jose-luis.carrizo@vodafone.co.uk'

Cc:
'claude.arzelier@vf.vodafone.co.uk'

Subject:
Intersystem HO test

Hi Jose

How are you? I just read the GERAN LS 'on terminology clarifications' (GP#5(01)1437) from the G4 reflector. The LS came at the right moment when T1-S is going to hold a TTCN ad-hoc meeting at ETSI on 21st June. The meeting will concentrate on the test model, method and TTCN interface for the multi-cell testing. The outcome of the discussion will directly affect the system simulator design and TTCN test cases for the 2G/3G HO tests.

Although the current T1 and G4 work on 2G/3G HO is limited at the MS/UE HO

scenarios between the 2G CN-A/Gb mode and the 3G CN-UTRAN Iu mode, I

believe, the test architectural model must take into account  the Rel 5

requirements of 

1. the MS/UE HO scenarios between 3G CN-UTRAN Iu and 3G CN-GERAN Iu, 

2. as well as between the 2G CN-A/Gb mode and 3G CN-GERAN Iu.

My basic question to Jose is:

Will there be in Rel. 5 any conformance requirements which require MS/UE keeping some simultaneous signalling on two cells of UTRAN Iu and GERAN Iu?

A similar question to Claude is:

Are there any 2G/3G HO conformance requirements which are not yet covered in the drafted test cases, but do require MS/UE keeping some simultaneous signalling on two cells of GERAN A/Gb and UTRAN Iu?

The key issue is the simultaneity.

The existing  2G/3G HO test cases do not test the simultaneity, it means that the test events or the expected test messages happen sequentially. In this case, the traditional test method can be applied. However, if you believe, there are some concurrent conformance requirements for 2G/3G HO, either in R99 or in Rel.5, the concurrent multi-tester method will be eventually chosen.

Your comments are highly appreciable. You can either answer me directly or send your comments directly to TSG-T1S reflector. 

Best regards

Shicheng

